
0,
3

31x2,54=78,74

78,74

2,54

0,
3

2 x 2,54 = 5,08

2,54

c32

a1
a32

c1

84,2
+0,2

6

+0,1
2,8 1

m
ax

.11
,1

±0,190

+
0,

1
8,

7

2,
5

-0
,2

83,2
+0,4

S

SS

S

a
b
c

S

32  31  30  29  28  27 26  25  24 23  22  21  20  19  18  17  16  15  14   13  12  11   10    9   8    7   6   5    4   3   2    1 

 contact layout

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

S

Bestückungsplan /

S

RC 1

class
Anforderungsstufe

ERNI

date
Datum

XXXXXXX

Stecklänge
mating length

6,
4

-0
,1

11
,6

m
ax

.

95max.

-0,288

5,
2

-0
,1

L    S   E

Stecklänge / mating length

E = early mate, late break / voreilend
S = standard
L = late mate, early break / nacheilend

+
0,

2
4,

8

±0
,1

0,
8 0,

8
±0

,1

prior notice.

contact one of the ERNI companies

DateIndex STVR

Male Connector R 64 Solder
Messerleiste R 64 Löt

384708

2:1Information: Tolerances Scale

All Dimensions

in mm

Class

I

Subject to modification without

A3

Designation

www.ERNI.com
before using.

Drawing will not be updated.

All rights reserved.
Only for Information.
To ensure that this is the latest
version of this drawing, please

Co
py

ri
gh

t b
y 

ER
N

I G
m

bH
P

ro
pr

ie
ta

ry
 n

ot
ic

e 
pu

rs
ua

nt
 to

 IS
O

 1
60

16
 to

 b
e 

ob
se

rv
ed

.

Lötanschluß 0,6x0,6mm /
Solder Terminal 0,6x0,6mm 
Isolierwerkstoff / housing material : PBT GF 30
Bauart 4 / type 4
Anforderungsstufe 1 = 500 Steckzyklen / performance class 1 = 500 mating cycles
Fehlende Maße und Angaben nach IEC 60 603-2 / DIN EN 60 603-2
Missing information and dimensions per IEC 60 603-2 / DIN EN 60 603-2
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